Crescent Girls School

Secondary 3 Mathematics D

Past Years Examination Questions

(1997 – 2001)

Topic: Algebra
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  (ii)
Express 
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2.
Factorise completely
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3.
Given that 
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4.
Given that 
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5.
Solve the equations:

(a)  
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6(a)
Make s the subject of the given formula 
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  (b)
Simplify 
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7.
If 
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8.
Simplify the following

(a)  
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9.
Factorise the following completely.

(a)   
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(b)    
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10(a) 
Solve the equation
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    (b) 
Simplify 
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    (c)
Given that 
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11.
Factorise completely

(a)
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12(a) 
Given that 
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, express x in terms of a and b.

(b)
A worker earned $x per month for the first p months of the year and $y per month for the rest of the year. Find an expression for his average monthly pay $m.
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13.
Solve the following equations.

(a)
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(b) 
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14.
Given that 
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Given that 
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15. 
Make a the subject of the formula 
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Find the value of a when A = 20, h = 8 and b = 2.
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16(a)
Given that 
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    (b)
Solve the equation
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17(a)
If 
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(ii) 
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It is given that 
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Find the value of y when
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(ii) Express x in terms of y.
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18(a) 
Simplify 
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    (b)
Express as a single fraction 
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19. 
Solve the equation
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20(a)
Factorise completely 
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    (b)
Express the following as a single fraction in the simplest form.
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21(a) 
Given that 
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    (b)
Given that 
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22(a)
Factorise completely


(i)
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(ii)
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Given that 
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23.
Simplify the following

(a)
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(b)
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24.
Make a the subject of the formula for each of the following:

(a)
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25
Solve the equations

(a)
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26.
Simplify the following fractions.

(a) 
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(b) 
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27.
Given that 
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